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1. naloga

F (s) = A
s
+ B

s2
+ C

s+1
+ D

(s+1)2

As(s+ 1)2 +B(s+ 1)2 + Cs2(s+ 1) +Ds2 = 1
s = 0 → B = 1
s = −1 → D = 1
ks → A+ 2B = 0 → A = −2
ks3 → A+ C = 0 → C = 2

f(t) = −2 + t+ 2e−t + te−t



2. naloga

y =
∞∑
n=0

Cnx
n

y′ =
∞∑
n=1

Cnnx
n−1

y′′ =
∞∑
n=2

Cnn(n− 1)xn−2

∞∑
n=2

Cnn(n− 1)xn−1 + 2
∞∑
n=1

Cnnx
n−1 +

∞∑
n=0

Cnx
n+1 = 0

∞∑
n=2

Cnn(n− 1)xn−1 + 2
∞∑
n=1

Cnnx
n−1 +

∞∑
n=2

Cn−2x
n−1 = 0

2C1 +
∞∑
n=2

[
Cnn(n− 1) + 2Cnn+ Cn−2

]
xn−1 = 0

C0 poljuben , C1 = 0 , Cn = −1
n(n+1)

Cn−2 , n = 2, 3, . . .
C1 = C3 = C5 = · · · = 0
C2n = (−1)n

(2n+1)!

y = C0

∞∑
n=0

(−1)n

(2n+ 1)!
x2n

y = C0
sinx

x

3. naloga

ux = uv + uzy
uxy = uvzx+ uzzyx+ uz

uy = uzx
uyy = uzzx

2

x2uvz + x2yuzz + xuz = x2yuzz + xuz

uvz = 0

uv = f1(v)
u =

∫
f1(v)dv = f(v) + g(z)

u(x, y) = f(x) + g(xy)



4. naloga

2y − 2 sinx− (−2y′)′ = 0
y′′ + y = sinx

r2 + 1 = 0
r1,2 = ±i
yh = A cosx+B sinx

yp = (C sinx+D cosx)x
y′p = (C cosx−D sinx)x+ (C sinx+D cosx)
y′′p = (−C sinx−D cosx)x+ 2(C cosx−D sinx)
2(C cosx−D sinx) = sinx
C = 0 , D = −1

2

yp = −x
2
cosx

y = A cosx+B sinx− x

2
cosx

5. naloga

P ( deljivo z 2 ali s 3 ) = P (A ∪B) = P (A) + P (B)− P (A ∩B) =

P ( deljivo z 2 ) + P ( deljivo s 3 )− P ( deljivo s 6 ) = 25
50

+ 16
50
− 8

50
=

33

50


